SOCKET PROGRAMMING 1
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} TCP/IP 2

S8 A3 SMTP, Telnet, FTP, HTTP, ...
TCP/IP

« QlEUlo| & T2ES ~ /
- SAZUAZ)CRE 1M , s AS | Tcp, ubp

HEHT AS IP, ARP, ICMP
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HESYZ M AS | olHy, FODI, ..
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TCP/IP 715
TCP UDP
HZAX [ (connection—oriented) H|HZ % (connectionless)
ME|M(reliability) B2 AMZINE HEBHK| o2
& Mo 7Islflow—control) MZ SEHA Vs Sl
=M HE(sequenced) =MNE BEGHX| 245(ho sequence)




- Ex. 10.198.123.33
.+ BAEY : AJAHIO] ROiH 02
- Ex. cslab.cbnu.ac.kr

+ DNS : SAEF(=HAZ)Z IPFLE
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hosts: files dns

« /etc/hosts I} EE= DNS, NIS

/etc/nsswitch.conf OO0 F4
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PRAQ SAEM

SAEHOZ HH ZM:. gethostbyname(3)

#include <netdb.h>
struct hostent *gethostbyname(const char *name);

struct hostent{
char *h_name; //SA EHQl O]
char =xh_aliases; //&24Al 0|2 EH¢Q O|E=
int h_addrtype; [/Z2AHE A A (IPv4: AF INET, IPv6: AF_INET6)
int h_length; //IPZ A0 37|E E=C}. (IPv4= 4)
char *xh_addr_list; //Z= 0|2l O|S0| CHst IPFA7F A4 JHEfZ HEEHE O
of HH H+F 0|8
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#include <stdio.h>

#include <netdb.h> # ex1l 3.out

#include <netinet/in.h> www.google.co.kr
#include <arpa/inet.h> addrList : 142.251.8.94
int main()

{

char *name = "www.google.co.kr";
struct hostent *host;

host = gethostbyname(name);
printf("%s\n", host->h_name);

for(int 1=0; host->h_aliases[i] != NULL; i++)
printf("aliases : %s\n", host->h_aliases[i]);

for(int i=0; host->h_addr_list[i] != NULL; i++)
printf("addrList : %s\n",
inet_ntoa(x(struct in_addrx)host->h_addr list[i]));

return 0;




d 1P AQ SAET

IPZFAR ZAH ZHM: gethostbyaddr(3)

#include <netdb.h>
struct hostent *gethostbyaddr(const char *addr, int len, int type);

- typel AEE & U= U

AF_UNSPEC 0 /* O[A]H */

AF_UNIX 1 /¥ SAE LHE EAl %/

AF_INET 2 /* OIE{H|E |3 EAl: UDP, TCP £ */
AF_IMPLINK 3 /* ArpanetQ| IMP F A x/

AF_PUP 4 /* PUP Z2EZE : BSP £ %/
AF_CHAOS 5 /* MITO| CHAQS 2 EZ x/

AF_NS 6 /* XEROXC| NS ZE2EZE */

AF_NBS 7 /* NBS T2EZ %/



SAEWAM SA5ta U= MHAE AESHE BS

« 2HIO|E AL E 0~655357tR| AtEI7t=
 Well known port : O|O] Zsl*%
- ssh(22), HTTP(80), HTTPS(443), mysql(3306), ...

« 2t OfY : /etc/services

—_ -

192.168.50.2 XE TE 192.168.504
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« SOCK_STREAM : TCP AIE
« SOCK_DGRAM : UDP A}E
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QUA ZHQl Ao A TR

struct sockaddr_un { e sun_family : AF_UNIX
sa_family t sun_family; . sun_path : EAI0| AI2% OmUo
char sun_path[108] @E_%q

¥

AE U Ao 4 F2A

struct sockaddr_in {
sa_family t sin_family;
in_port_t sin_port;
struct in_addr sin_addr;
char sin_zero[8]; // A A 7|2 16BE Ux7| st dummy

}s

struct in_addr {
in_addr_t s_addr; // unsigned long (4B)
}s
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#include <sys/types.h>

AFHE| = tHel

| N—

D O HHHAM A

inet _addr(3)

"192.168.11.11"

#include <sys/socket.h>

#include <netinet/in.h> ‘/////////

#include <arpa/inet.h>

in_addr_t inet_addr(const char *cp);
IZA YEfO| IPFAS BAUHEE

#include <sys/types.h>

#include <sys/socket.h>

#include <netinet/in.h>

#include <arpa/inet.h>

char *inet _ntoa(const struct in_addr in);

HH =t
| B

inet ntoa(3)
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09 int main(void) {

in_addr_t addr;
struct hostent *hp;

A2 HEiE O

—

Mo

struct in_addr in; “{

b

ogl

Ei2 tH

rton

if ((addr = inet addr("210.115.161.30")) == (in_addr_t)-1) {

printf("Error : inet_addr()\n");
exit(1);

J a2 srEY AY

hp = gethostbyaddr((char *)&addr, 4, AF_INET);

if (hp == NULL) {
(void) printf("Host information not found\n");
exit(2);

}

printf("Name=%s\n", hp->h_name);

memcpy(&in.s_addr, *hp->h_addr_list, sizeof (in.s_addr));

struct sockaddr_in {
sa_family_t sin_family;
in_port_t sin_port;
struct in_addr sin_addr;
char sin_zero[8];

I8

struct in_addr {
in_addr_t s_addr;

s

printf("IP=%s\n", inet_ntoa(in));

= =H e

A Z2AIEZ HEtsIH &3

return 0;

# ex11l_5.out

1P=210.115.161.30

# gcc -0 ex11l 5.out ex11_

Name=mobile.chungbuk.ac.kr

5.c
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socket : A7 OAUT|=AF AlM

bind : AZ OtUJ|=AE A|AE= IP
listen : S2{0|MEQ| H& Q3 {7
accept : S20|HEQ| H£L F&E
connect : S2I0|HEJL AHOY H= Q

recv : O|O|E{ £=4I(SOCK_STREAM)
send : G|O|E| &4l (SOCK_STREAM)

recvfrom :

sendto :

;AR TS

| O|E{ £ AI(SOCK_DGRAM)
H|O|E{ £ AI(SOCK_DGRAM)

=

O
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At Z2t0|AHE
socket() \ l socket() J
L J
bind()
L J
listen()
. / N A g Y N
accept() < - > connect()
r Y \  HIOIE &4l v «
send()/recv() [« »  send()/recv()
) ¥ § ) ¥ .
close() close()
Office Telephone Analogy for Server
 Socket : Buy a phone
« Bind : Tell the local administrator what number you want to use

« Listen : Plug the phone in
« Accept : Answer the phone when it rings



§ uop

>

I

gol

T 2 =M

Server Client
socket() socket()
bind()
recevfrom() sendto()/
/sendto() recevfrom()
close() close()
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27 QA Oo|A ef4[2]

A MMSEE7]: socket(2)

#include <sys/types.h>
#include <sys/socket.h>
int socket(int domain, int type, int protocol);

e domain : A7l == (AF_UNIX, AF_INET)
* type : SHZA(TCP, UDP)
- protocol : AZ0 O] Z2EZE

int sd;
sd = socket(AF_INET, SOCK_STREAM, 0);

21



§ A3 QIE{H0|A (3]

2200 O|F A[Est7]: bind(3)

#include <sys/types.h>
#include <sys/socket.h>
#include <arpa/inet.h>
int bind(int s, const struct sockaddr_in *name, int namelen);

« name : A#HO| O|EZ HBSI=E LA struct socl.<addr_ir.1{ .
sa_family_t sin_family;
in_port_t sin_port;

s

it sd; truct in_addr sin_addr;

sd = socket(AF_INET, SOCK_STREAM, 0); SIEFUETE il Gl Sl el
char sin_zero[8];

struct sockaddr_in sin; b

memset((char *)&sin, '\@', sizeof(sin));
sin.sin_family = AF_INET;

sin.sin_port = htons(9000); ;
sin.sin_addr.s_addr = inet_addr("192.168.100.1"); 35
memset(&(sin.sin_zero), 0, 8);

struct in_addr {
in_addr_t s_addr;

bind(sd, (struct sockaddr *)&sin, sizeof(struct sockaddr));

22



§ A2 QIE{HO|A H4[4]

=clO|HE HZ 7|Cte]|7]: listen(3)

#include <sys/types.h>
#include <sys/socket.h>
int listen(int s, int backlog);

« backlog : Z|L[l{ |8 ZCI0|HE =

listen(sd, 10);

HZH 22 £25}17|: accept(3)

#include <sys/types.h>

#include <sys/socket.h>

int accept(int s, struct sockaddr_in *addr, socklen_t *addrlen);
+ addr: H&S 235 Z20[HEL| IP HE

| -

int sd, new_sd;
struct sockaddr_in sin, clisin;
new_sd = accept(sd, &clisin, &sizeof(struct sockaddr_in));
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§ A3 QIE{HO|A H4[5]

MHeb HASH7|: connect(3) - client O|A £

#include <sys/types.h>
#include <sys/socket.h>
int connect(int s, const struct sockaddr_in *name, int namelen);

e name : A&5t= MBO| IPARE i
4 <ol 2 1 H 2 e struct sockaddr_in {

— . sa_family_t sin_family;
int sd; in_port_t sin_port;
struct in_addr sin_addr;

struct sockaddr_in sin;

memset((char *)&sin, '\@', sizeof(sin));
sin.sin_family = AF_INET;

sin.sin_port = htons(9000);

sin.sin_addr.s_addr = inet_addr("192.168.100.1");
memset (&(sin.sin_zero), @, 8);

}s

struct in_addr {
in_addr_t s_addr;

}s

connect(sd, (struct sockaddr *)&sin, sizeof(struct sockaddr)); J

24



§ A3 QIE{H0|A H4[6]

TCP H|O|E{ HL{7|: send(3)

#include <sys/types.h>
#include <sys/socket.h>
ssize_t send(int s, const void *msg, size t len, int flags);

« flags : ¥4 HIO|E{ 0 CHSt optiong OG2{7}AE2 HY s

char *msg = "Send Test\n";

int len = strlen(msg) + 1;

if (send(sd, msg, len, @) == -1) {
perror("send");
exit(1);




| A2 QlE{m0]A BH4[6]

TCP G|O|E{ Bt7|: recv(3)

#include <sys/types.h>
#include <sys/socket.h>
ssize_t recv(int s, void *buf, size t len, int flags);

char buf[80];

int len, rlen;

if ((rlen = recv(sd, buf, len, 0)) == -1) {
perror(“recv");
exit(1);




270 QHO ol A ot [7]

UDP G|O|E{ EHLH7|: sendto(3)

#include <sys/types.h>
#include <sys/socket.h>

ssize t sendto(int s, const void #*msg, size t 1len, int flags,
const struct sockaddr_in *to, int tolen);
e to : AIRE HIE SAEQ =4
-
char *msg = "Send Test\n";
int len = strlen(msg) + 1;
struct sockaddr_in sin;
int size = sizeof(struct sockaddr_in);
memset((char *)&sin, '\@', sizeof(sin));
sin.sin_family = AF_INET;
sin.sin_port = htons(9000);
sin.sin_addr.s_addr = inet_addr("192.168.10.1");
memset(&(sin.sin_zero), @, 8);
if (sendto(sd, msg, len, @, (struct sockaddr *)&sin, size) == -1) {

perror("sendto");
exit(1);

27



| A2 QlE{m0]A BH4[3]

UDP CG|O|E{ HF7|: recvfrom(3)

#include <sys/types.h>

#include <sys/socket.h>

ssize t recvfrom(int s, void *buf, size t 1len, int flags,
struct sockaddr_in *from, int *fromlen);

» from : HIAZE EU= 2AEQ9 HH (AAAXMA 2[EHE)

char buf[80];
int len, size;
struct sockaddr_in sin;

if (recvfrom(sd, buf, len, @, (struct sockaddr *)&sin, &size) == -1) {
perror("recvfrom");
exit(1);
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if ((sd = socket(AF_INET, SOCK_STREAM, 0)) == -1) {
perror("socket");
exit(1);

¥

int optvalue=1;
setsockopt(sd, SOL_SOCKET, SO _REUSEADDR, &optvalue, sizeof(optvalue));

29
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iter0i A= Of2f & OtY-Z include
@9 #define PORTNUM 9000 | ZEHS #include <arpa/inet.h>
10 #include <sys/un.h>
11 int main(void) {
12 char buf[256];
13 struct sockaddr_in sin, cli;
14 int sd, ns, clientlen = sizeof(cli);
15
16 if ((sd = socket(AF_INET, SOCK_STREAM, 0)) == -1) {
17 pel‘”ror('.'socket"); @J s 0.0.0.0 o Ho D
12 1 s IPOZEHE9 QXS HtS
20
21 memset((char *)&sin, '\@', sizeof(sin));
22 sin.sin_family = AF_INET; — -
23 sin.sin_port = htons(PORTNUM); ﬁ e e MG
24 sin.sin_addr.s_addr = inet_addr("0.0.0.0");
25
26 if (bind(sd, (struct sockaddr *)&sin, sizeof(sin))) {
27 perror("bind"); —N
28 exit(1); AT AL A2 A FRHY AHE
29 }
. y,

30



d (1) OIE{Y TCP A (AMH)

-
31

32
33
34
35
36
37
38
39
40
41
42
43
44
45
46
47
48
49
50 }

if (listen(sd, 5)) {
perror("listen");
exit(1);

}

if ((ns = accept(sd, (struct sockaddr *)&cli, &clientlen))==-1){

perror("accept");
exit(1);
}

NN

SEf0|HEL} HZ

sprintf(buf, "Your IP address is %s",
if (send(ns, buf, strlen(buf) + 1, 0)

perror("send");
exit(1);
}
close(ns);
close(sd);

return 0;

inet_ntoa(cli.sin_addr));

== -1) {

'_/\
Z22}0|HEZ

HOlE ELH7|
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§ (2) OIE{Y TCP A (SEH0|QE)

HEHS
09 #define PORTNUM 9000 (ZEAL AH7|2te| ZEHHS ALR)
10
11 int main(void) {
12 int sd;
13 char buf[256];
14 struct sockaddr_in sin; ‘{ ol M A
15 A OO
16 if ((sd = socket(AF_INET, SOCK _STREAM, 0)) == -1) {
17 perror("socket"); -
18 exit(1); d&5E IP (M IP)
19 } ifconfig HHOZ =10l Tt
20
21 memset((char *)&sin, '\@', sizeof(sin)); -
22 sin.sin_family = AF_INET; A 2% F4 724 44
23 sin.sin_port = htons(PORTNUM);
24 sin.sin_addr.s_addr = inet_addr("192.168.162.133");
25
\_ J

32



§ (2) OIE{Y TCP A (SEH0|QE)

26 if (connect(sd, (struct sockaddr *)&sin, sizeof(sin))) {

27 perror(“connect"); T

28 exit(1); MHO 5 23

29 }

30

31 if (recv(sd, buf, sizeof(buf), 0) == -1) {

32 perror("recv"); =

33 exit(1); M7 HEH O[O]E] 7]

34 }

35 close(sd);

36 printf("From Server : %s\n", buf);

37

38 return 0;
k39 }

# gcc -0 ex11_7s ex1l 7-inet-s.c A H
# gcc -0 ex1l 7c ex1l 7-inet-c.c

# ex1l 7s.out

# ex11 7c.out SEl0|AE
From Server : Your IP address is 192.168.162.131




(... HEHS
09 #define PORTNUM 9005 <{ (ZA+ AH7|2te| ZER S M%)]
10
11 int main(void) {
12 char buf[256];
13 struct sockaddr_in sin, cli;
14 int sd, clientlen = sizeof(cli);
15
16 if ((sd = socket(AF_INET, SOCK DGRAM, 0)) == -1) {
17 perror("socket"); S
18 exit(1); 270 ME(HO[E{13k)
- } 0.0.0.0 ¢l AR =
A [POSHE0| QHS ute
21 memset((char *)&sin, '\@', sizeof(sin));
22 sin.sin_family = AF_INET; TS T
23 sin.sin_port = htons(PORTNUM); ﬁ ol
24 sin.sin_addr.s_addr = inet_addr("0.0.0.0");
25
26 if (bind(sd, (struct sockaddr #*)&sin, sizeof(sin))) {
27 perror("bind");
28 exit(1); l AAT|EAQ} AU F ]
29 } A F2RA HE
. y,
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§ (1) QUE{L UDP A (MH)

7

31 while (1) {
32 if ((recvfrom(sd, buf, 255, 0,
33 (struct sockaddr *)&cli, &clientlen)) == -1) {
i ziﬁ‘zg;re“fmm )5 N ZeroldiEe] WA 24
36 }
37 printf("«* From Client : %s\n", buf);
38 strcpy(buf, "Hello Client");
39 if ((sendto(sd, buf, strlen(buf)+1, 0,
40 (struct sockaddr *)&cli, sizeof(cli))) == -1) {
41 perror("sendto");
42 exit(1); ?E’\
=2l0|HER HO|E EL7|
43 }
44 }
45
46 return 0;
\47 }




§ (2) OIE{Y UDP AZ(S2L0|QE)

09 #define PORTNUM 9005 z[ EZEHS
10
11 int main(void) {
12 int sd, n;
13 char buf[256];
14 struct sockaddr_in sin;
15
16 if ((sd = socket(AF_INET, SOCK DGRAM, 0)) == -1) {
17 perror(“socket"); dLsk IP (MY IP)
18 exit(1); 7 27 4 ifconfig @Yoz 30l Jt5
19 }
20
21 memset((char *)&sin, '\@', sizeof(sin));
22 sin.sin_family = AF_INET; 4 2 T4 AZ2A HY
23 sin.sin_port = htons(PORTNUM);
24 sin.sin_addr.s_addr = inet_addr("192.168.162.133");
25
26 strcpy(buf, "I am a client.");
27 if (sendto(sd, buf, strlen(buf)+1, 0,
28 (struct sockaddr *)&sin, sizeof(sin)) == -1) {
29 perror("sendto"); —
o, o KEo| HiAZ] &
\_ J
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8 (2) °IE{4Yl UDP

27 (Z220|HE)

*x From Server : Hello Client

33 n = recvfrom(sd, buf, 255, @, NULL, NULL);

34 buf[n] = ==

35 printf("«x From Server : %s\n", buf); MH 7t B GO[E 7|

36

37 return 0;

38 }

# ex12 5s.out A H
** From Client : I am a client.

# ex12 5c.out =0 E

37



Exercise

o2t Ef 77 Q= o=

I=

2O Y = HAE &

server= swistl
client= swist2 OfJA ZtA

swistl
swist?2
port=

ip : 10.198.138.212 (LH&)
ip : 10.198.138.213 (LH&)
2t2t HZ5| MM (10000 O|AIQ] HHS 2 ALR)
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